The Pythagorean
Theorem

The Pythagorean Theorem - Used to find the third side of a right triangle when two sides are given.
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1. Find the value of each variable.
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Pythagorean Triples
3-4-5
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c) O b d) ABCDis a rhombus.
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e) Find the length of the main diagonal of the rectangular prism.
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Classifying Triangles Using the Pythagorean Theorem

* Right Triangle - a® + b = ¢?
- Acute Triangle - a*> +b* > ¢®
* Obtuse Triangle - a° +b* < ¢?

2. Classify the triangle as right, acute or obtuse.
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3. Find the area.
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b) ABCD is a rectangle. Find the area of ABCD.
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